11/23/2020

Preparation smsmssem)
+ 4 people per group =4 A5—#)

+ Afterinstructions, each group will
receive @frriRmRxS A= @RAENLTIS

BRIRSME LR

1 Tape (B#& 1 M)

1 Color Pencil (weu#1%) 5
1 Paper Box (#= 1 &)
24 Slips (4 24 38) s

No Other Tool Allowed! ! FagmgEmrTan)

Chain Production

How to Produce Rings? (mfasfestiz?) How to Produce Rings? (mfasitsiz?)
1. Use Color Pencil to Connect the Dots 2. Tape the Slip into a Ring
(FIR® @55 RS (—R—3) (PR3 165 45 66 3 L 01

Keep Your Table Clean! azrsamss:
Draw ONE Slip at a time! @srammas:

i 2 y m
How to Produce Rings? nfagfrsz?)  EachChain o1t Ecoite i

: : « Labor and Capital are both costl
3..Comk:1|n.e Rings (ﬁmlsazmgfampwzs) 4

mt%g%g}:ﬁ%;) * 4 rounds: 1 minute each with 30
seconds of discussion beforehand
] Gt4EE - SESRE 1 58 - BAFA 30 BaREE)

: ’“‘-’l : + Earnings = Max. in 4 rounds
‘ | (8% = 4 BSPHBEFE)
,ﬁj_i

+ Each group receives 1 toolkit
(EEERAERIE—E)

Done! ! #a=m)
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Round 1 (6—[EI&)

* Produce with 1 =arssr1 Agmnr
+ 30 seconds Discussion gazmaies 30 Btz

« Time's up! Get ready...
(BRIZI | BERIEE AL,

Round 1 (—[E &)

REEDY

Round 1 of 60 seconds begins!
(S—EAFM 60 BB

00:a8

Time's up!! Record results @z #esen)

Round 2 (33_[E1H)

BIRRETR
Linked-Rings Factory
EERE : =F( , )
(Production Function)
Total Total
Round | Tape | Pencil | Labor | Product |[Revenue| TFC TVC TC ™ MPL VMPL MCL
BE | mnww o ez @ (B2 |20 | 2 | &

$25]$15| $10 | $15 u;é A | A | A iU;’zﬁ

1 1 0 0 0 40 0 40 | -40 | NA NA NA

1 1
1 1
1 1
1 1

Blw|Nv] =
ENN [ETN N RN

Produce with 2 =anrssr2 AgmnE
30 seconds Discussion gapasaieT 30 #itia!)

Time's up! Get ready...
(BRIZI | BEREEALLL.)

Round 2 (3_[EH)

REEDY

+ Round 2 of 60 seconds begins!
(BZEIRTEME 60 BRI

00:28

« Time's up!! Record results @mz memen)

Round 2b (BE85Ms6 _[E15)

Produce with the other 2 =&z 2 Agmnir
30 seconds Discussion grsaait 30 #atia!)

Time's up! Get ready...
(BRIZI | BEREEHLLL.)




Round 2b (BE4hsE

=)
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(BASMSE I A 60 7oRA%A!!)

REEDY

+ Round 2b of 60 seconds begins!

00:28

EERE :

(Production Function)

BRERRELR

Linked-Rings Factory

F( ,

Round
@&

Tape
B%
$25

Pencil
S
$15

Labor
L=yl
$10

Total
Product
BES

$15

Total
Revenue

Wi

TFC
BlE
A

TvCe | TC L3 MPL
28 (& @

i | sk | Am

VMPL

1

1

0

0

0

40

0 40 | -40 | NA

NA

NA

Blw|n] =

1
1
1
1

1
1
1
1

1
2
3
4

« Time's up!! Record results @mmzn #zsen)
Round 3 (36=[E5)

(BAIRIKZZ S —ESH 3 NETRIF)

« Time's up! Get ready...
(BRE ! BEREEERL.)

» Produce with 3 (who did not do Round 1)

+ 30 seconds Discussion gamaies 30 Btz

e — /E\)

Round 3 (=

REEDY

+ Round 3 of 60 seconds begins!
(BSERE 60 BHA!)

00:28

« Time's up!! Record results @z

FRACER AT oR)

RIRRELR

Linked-Rings Factory

EEREH : = F(

(Production Function)

Total Total
Round | Tape | Pencil | Labor | Product |[Revenue| TFC TVC TC
BE | By | w51 | 222 & BlE | £8 )
$25|$15 | $10 | $15 | W | A | sk | A&

™
)
palb|

MPL

VMPL

1 1 0 0 0 40 0 40

-40

NA

NA

NA

1 1
1 1
1 1
1 1

Blw|Nv] =
Blw|Nv] =

Round 4 (5[4 [E] &)

» Produce with 4 =aisira AgineE

« Time's up! Get ready...
(WRIE) ! BERAEEFHLL.)

» 30 seconds Discussion gapasaieT 30 #itia!)
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REEDY

+ Round 4 of 60 seconds begins!
(MBI 60 B! )

00:28

« Time's up!! Record results @mmzn #zsen)

Hands-on (50 Ecoins)

—EBF

« Chain Production Record Sheet mszsis=

Hands-on (50 Ecoins)

—EBF

« Chain Production Record Sheet smusiszsss
+ How would your production strategy

change if wage increases to $20?
(MRTH LT 2 A $20 - MRS EERIE? AMHE?)

BIRRETR
Linked-Rings Factory
EERY = F( . )
(Production Function)
Total Total
Round| Tape | Pencil | Labor | Product [Revenue| TFC TVC TC ™ MPL VMPL MCL
EE e | wE w0 |eaE| & B2 |28 | a2 | &
25|15 | 810 | $15 | weas | mok | sk | mk | fm
1 1 0 0 0 40 0 40 -40 | NA NA NA
NENERE
2 1 1 2
S ERERE
a1 [1]a
BIRRETR
Linked-Rings Factory
SERE: Y =F(_K ,_L )
(Production Function) I BEX &8
Total Total
Round | T 1] L: Product |Revenue| TFC Tvc MP VMP! MCi
EAY R e S e o @/{%}9(}% s |=@asmslEne
h$25 | $154.810 ‘f;? Nz )|\ | md \mar)| o || m|mms
1 1 0 0 40 0 40 -40 | NA NA NA
L O B 3 |45(40| 10|50 (-5| 3 |45 (10
2|1|[1]2]| 8 |120| 40| 20|60 |60 | 5 | 75| 10
3|1 [1]3]|1|165| 40| 30|70 | 95| 3 | 45| 10
a1 ] 1] 4] 12]180] 40] 40 ] 8o [(100] 1 [ 15 ] 10
HIRRETR
Linked-Rings Factory
EERE: Y =F(_K ,_L )
(Production Function) i BX &8
Total Total
Round | Tape | Pencil | Labor | Product [Revenue| TFC TVC TC ™ MPL VMPL MCL
me | pw|wwlanleee| @ @ | o6 | @ | & |[B@EEEE(s9s
$25 | $15[ g0 | $15 | Wz | mo | miok | i | 2o |mEs|mEERmns
11707 0| o |4 | o f4]|-4]N [N ]Na
1] 1 1 1 3 45| 40| 10 [ 50 | -5 || 3 [ 45 | 10
2|1 1 2 8 (120 40| 20 | 60 | 60 5| 75| 10
3|1 [1]3]|11|165| 40| 30|70 |95 3 | 45| 10
4|1 114 (12 |180| 40| 40 | 80 | 100 1 15 | 10
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SRIRBE TR =
2 Linked-Rings Factory ﬁ2$ ﬁ
Hands-on (50 Ecoins)
—REENTE EEEY: Y =F(_K , ‘_)l i_i
+ Chain Production Record Sheet smzszns : s S
+ How would your production strategy d =
s L 5 Labor | Product MPL
change if wage increases to $20? omn azs| |28z —
(MBTHE L 2 SR $20 - BUARBRMNEERIL? BIHE?) 510 | 55| Hlszw TN
» Production Function (L vs. K) 5 o| o [HI na /
LEAYE (57 vs. RER) —] s (H 3
N — : ot
° 2 8 1 5 =
1 |
8 11 3 10 15
4 | 12 1 (biminisi'ning Marginal __
Returns garssgm=al
=
Q=1 Hands-on (50 Ecoins)

—REENF

+ Chain Production Record Sheet suzusirn=
+ How would your production strategy
change if wage increases to $20?
s (MRTH L7 2 A 520 - SMARBRMEERIE? AE)
* Production Function (L vs. K)
EERNE (57 vs. BES)

« Cost Functions (FC, VC, TC)
AR (BEME - SHRE - BRE)

-2l GO per o phs

SRR TR
Linked-Rings Factory B' &l .
o s Hands-on (50 Ecoins)
' ‘ 100 —EEF A
— zz + Chain Production Record Sheet smzss=
oot W ree | e | v Il » How would your production strategy
pEEll = |20 [ 2 || - change if wage increases to $20?
s15 f) mx | s | x| (MBTHE L 2 (B 520 - BOABRRMMEERE? AHED)
0 40 | o | 40 ||, « Production Function (L vs. K)
EERYUE (57 vs. BER)
A AR ; + Cost Functions (FC, VC, TC)
8 40 | 20 | 60 = AR EERS - BHRE - EHE)
11 20 30 [ 70 1 B2 « How is Production related to Cost?
" g 0 " (LB R A TR E 2 WA R ER?)
12 || 40 | 40 | 80 -
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11/23/2020

Hands-on (50 Ecoins)

—REENF

ExtenS|ons7 Staples MPL, AC MC (zaﬂilﬁiﬁtsa

Chain Production Record Sheet smssimns
How would your production strategy
change if wage increases to $20?

(MBTE L2 BRR $20 - BOARBRPLEERRR? AHE?)
Production Function (L vs. K)

LEXYE (57 vs. AER)

Cost Functions (FC, VC, TC)

MAE (EEME - SRS - BHE)

How is Production related to Cost?

(R BUE B 8 A 2 A 1 ERA?)




